

# ಕೌರಾ ಕ್ರಾಂಡ್ ಪ್ರಾಂಥ್ ಪ್ರಾಂಥ್

**À¥ÀI -155** Volume - 155

ಬೆಂಗಳೂರು, ಗುರುವಾರ ,25, ಜೂನ್, 2020(ಅಡಾಧ ,4, ಶಕವರ್ಷ ೧೯೪2) Bengaluru, THURSDAY, 25, JUNE, 2020(Ashadha,4,ShakaVarsha 1942) ¸ÀaPÉ26 Issue 26

# LWM...

gÁdæÀ«zÃAiÑRÞÀÀÀ ÑAÑCªÑAÀªÑÃ-É¥ĴÀî£Á¸ÀÄWAiѪÁÀŪÑÀ gÁdæÀ C¢ëAiÑPÑAÑAªÑAÑDzÁœŽĚ±ÞÀÑÀ PÃAzÀÀÄÑAÑgÁdæÀ£Á¸ÀÐÀÀ ÀªÑÁgÉÉgÁdå¸ÞÁÓgÂÑA °ÆgÀ¹zÀ¸ÁªÑ£Ã±Á¸ÀÁZÞ¤AiÑPÑAÑÀªÑAÑQÁeÁ&UÀÀªÑÁGÉGÁdæ¥Á®gÑAªÑArzÀ ¤AiÑPÑAÑA°ÁUÁ PÀÁðI PÁGZÑEÁÄIÑ®AiÑPÑAÄÄÄArzÀRAiÑPÑAÑA

GOVERNMENT OF KARNATAKA

No. RD 31 BHUDAA 2019

Karnataka Government Secretariat, Multistoried Building, Bengaluru, dated: 12.11.2019.

### NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey, Koppala District to the Board in letter No: PAZE¹.Cgi/127/2013-14.

Dated:22-08-2018. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on 25.08.2018. The Govt. of Karnataka is hereby notify that the following immovable properties are Waqf properties.

Nar	ne of Dist : Koppa	al											Name of Ta	ıluka: Kushtagi	
			Locat	ion & Details Properties									Administr	Registred	
SI. No	Name & Address of the Institution	Sunni or Shia	City/ Town/ Village	Sy. No./ CTS No. / Khata No.	Extent ACRE/ GUNTA SQ FT	Boundaries	Value (Rs. in Lacks)	Year of Creation of Waqf	Name and Address of the waqif	Benefi ciaries if any	Object of waqf	Gross Annual Income of waqf	ation by Custom/ Usage/ Hereditar y	Trust / wqaf deed / waqf scheme of Management approved by the Board	Remark s
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16
1	Muslim Khabrastan (Sunni) Mullerwadi Street, Kushtagi Town	Sunni	Kushtagi Town	Ass No. 540	145' x 157' = 22765sft	East: Urdu School and Ashurkhana West: Road North: Road South: Road	33.85	KTW/REG/ 34/KPL/20 01-02 DTD: 27.07.200	Muslim Jamath	Muslim Jamath	Khabrasta n	Nil	Usage	Deemed approved	Khata Effected
2	Mehboobia Masjid (Sunni), Indra Colony, Kushtagi Town	Sunni	Kushtagi Town	SY No 113 Plot No. 31 & 32	40' x 50' = 2000 sft	East: Plot No. 29 and houses West: Road and site North: Main Road South: Private Houses	7.06	KBW/REG /RCR/199 3-94 DTD: 21.11.199	Muslim Jamath	Muslim Jamath	Masjid	10,000/-	Custom	Deemed approved	-
3	Anjuma-E-Islam Panch Committee for Construction of Hazrat Bibi Fatima Shadi Mahal, Kushtagi Town	Sunni	Kushtagi Town	SY No. 198/1B	01A-10G	East: Land of Khaja Abdul Ali West: Nala& next land of Desai North: VerupakshappaTul uvagiri's Land South: Land of Mukhtar Sab	12.00	KTW/REG/ 7/KPL/200 4-05 DTD: 13.09.200 4	Muslim Jamath	Muslim Jamath	Shadi Mahal	1,05,000/-	Custom	Deemed approved	Khata Effected
4	Madeena Masjid (Sunni), Kushtagi Town	Sunni	Kushtagi Town	Plot No. 217	38' x 27' = 1026 sft	East: Open site of Hameed Sab Chowdi West: House of Mohammed Hussain North: House of RamannuGandar kar South: Existing site of Mosque	3.62	KTW/REG/ 1/KPL/199 9-00 DTD: 03.12.199 9	Muslim Jamath	Muslim Jamath	Masjid	10,000/-	Custom	Deemed approved	-

	,			1						1					
				Plot No. 213	42' x 74' = 3108 sft	East: Open space West: House of Hameed Sab Chowdi North: 15 Feet Road South: 22 Feet Road	10.98					10,000/-			
5	Jamia Masjid, Mehboob Subhani Dargah	Sunni	Hire	SY No. 13 Pro -1	30' x 40' = 1200 sft	East: Land of Khabrastan West: Road North: Khabrastan South:Khabrasta	0.90	KTW/REG/ 31/KPL/20 01-02	Muslim	Muslim	Dargah	5,000/-	Custom	Deemed	Khata
5	&Ashurkhana (Sunni), Hire Gonegar Village	Summ	Gonegar Village	SY No. 13 Pro -2	60' x 40' = 2400 sft	East: Ameen Sab Nadaf West: Khabrastan North: Ameen Sab Nadaf South: Road	1.78	DTD: 17.01.200 2	Jamath	Jamath	Masjid	5,000/-	Custom	approved	Effected
		Sunni	Hire Gonegar Village	Gowtana	18' x 20' =360 sft	East: Govt. place West: Govt. place North: Road South:Houses	0.27				Ashurkha na	5,000/-			Khata Effected
6	Muslim Khabrastan (Sunni) Hire Gonegar Village	Sunni	Hire Gonegar Village	SY No. 13/1	00A-13G	East: Sripati Rao Kulkarni West: Road North: Land of Ramanpatti South: Road	0.54	KTW/REG/ 25/KPL/20 00-01 DTD: 27.07.200	Muslim Jamath	Muslim Jamath	Khabrasta n	Nil	Usage	Deemed approved	Khata Effected
	Jamia Masjid		Gotagi	SL. No. 360, ASS No. 371	40' x 30' = 1200 sft	East: Gowthana West: Road North: Open space Wakf South: House of Raja Sab	0.90	KTW/REG/ 33/KPL/20 01-02	Muslim	Muslim		5,000/-		Deemed	
7	(Sunni) Gotagi Village	Sunni	i Gotagi Village	Wakf Deed No. 5249		East: Gowthana West: Road North: Gowthana South: Site belongs to Mosque	0.90	DTD: 20.12.200 1	Jamath	Jamath	Masjid	5,000/-	Custom	Deemed approved	-

8	Jamia Masjid (Sunni), Moognoor Village	Sunni	Moognoor Village	Asst No. 302	45' x 50' = 2250 sft	East: Plot of Utarava West: Plot of Raja Sab Aligar North: Road South: Road	1.68	KBW/REG /50/KPL/2 001-02 DTD: 16.01.200 2	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	Khata Effected
9	Dargah (Idgah Sunni), Moognoor Village	Sunni	Moognoor Village	SY No. 5/3	0A-26G	East: HanumappaHan umavva Horizon West: Hanuma Sagar to Gajendragad Road North: Bassappa S/O DandappaKamat her South: Yamnurappa S/O DayamappaAdap ati	1.06	KSBW/RE G/49/KPL/ 2001-02 DTD: 17.01.200 2	Muslim Jamath	Muslim Jamath	Dargah	4,000/-	Custom	Deemed approved	Khata Effected 0-10 G Was aquired for Road
10	Jamia Masjid &Idgah (Sunni) Hiremannapur	Sunni	Hiremanna pur Village	Sy. No. 28 Plot No. 896/1	60' x 40' = 2400 sft	East: Govt Land West: Govt Land North: Govt Land and watertank South: Jamia Masjid	2.90	KBW/REG /20/KPL/1 999-00 DTD:	Muslim Jamath	Muslim Jamath	ldgah	5,000/-	Custom	Deemed	Khata Effected
	Village		pui village	Sy. No. 28 Asst No. 896/2,	80' x 60' = 4800 sft	East: Gudador to Mannapur Road West: Govt Land North: Idgah South: Field Road	5.80	06.07.200 0	Jamaui	Jamath	Masjid	5,000/-		approved	
11	ldgah&Khabrastan , Shiragumpi Village	Sunni	Shiragumpi Village	SY No. 168/3 170/3	00-00¾ 00-05 00A-05¾G	East: Govt Road West: Nala North: Land of Hasan Sab South: Land of Gowramma	0.18	KTW/REG/ 10/KPL/20 02-03 DTD: 09.10.200 2	Muslim Jamath	Muslim Jamath	ldgah&Kh abrastan,	4,000/-	Usage	Deemed approved	As per RC = 0A-5G As per Enjoymen t = 0A- 5%G Excess = 0A-%G

12	Muslim Khabrastan, Hanamsagar Village	Sunni	Hanamsaga r Village	SY No. 1/2	03A-00G	East: Road West: Venkateshwara Road North: Remaining Govt Land South: Govt Land	9.00	KBW/REG /5/KPL/19 99-00 DTD: 09.08.199 9	Muslim Jamath	Muslim Jamath	Khabrasta n	Nil	Usage	Deemed approved	-
13	Khaderia Masjid AhleSunnatulJama t, Hanamsagar Village	Sunni	Hanamsaga r Village	Plot No. 445	70' x 40' = 2800 sft	East: House of YerappaYalki West: Grant Road North: Ashurkhana South: Grant Road	4.95	KTW/REG/ 3/RCR/19 91-92 DTD: 30.10.199	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	-
14	Yasmeen Jamia Masjid (Sunni) Kanakoppa Village	Sunni	Kanakoppa Village	SY No. 1/1, Hissa No. 3	40' x 55' = 2200 sft	East: Sannaraje Sab S/O Raje Sab West: Khalalbandi Road North: Sannaraje Sab S/O Raje Sab South: Plots	1.63	KBW/REG /8/RCR/19 95-96 DTD: 20.06.199 6	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	-
15	Khabrastan&Idgah (Sunni), Kanakoppa Village	Sunni	Kanakoppa Village	SY No. 47/3	01A-15G	East: KalalbandiGajen dragad Road West: Field of Bhimachari North: Govt. School Ashraya Houses South: Fields of Mahantappa	2.00	KBW/REG /13/RCR/1 995-96 DTD: 29.04.199 6	Muslim Jamath	Muslim Jamath	Khabrasta n&ldgah	4,000/-	Usage	Approved by the board.	As per RC = 04A- 20G As per Enjoymen t = 1A- 15G Less = 03A-05G
16	Masjid (Ashurkhana) & Mehboob SubhaniChilla,	Sunni	Nilogal Village	Asti No. 277	27' x 15' = 405 sft	East: House of Peer Sab Makandar West: Street North: Street South: Govt. Road	0.30	KBW/REG /81/KPL/2 009-10 DTD:	Muslim Jamath	Muslim Jamath	Ashurkha na	4,000/-	Custom	Deemed approved	-
	Makandar Galli, Nilogal Village			Asti No. 320	17' x 13' = 221 sft	East: Open space and Road West: Open Space North: Open	0.16	20.11.200			Chilla	4,000/-			

						Space South: Govt. Road									
17	Jamia Masjid, Nilgol Village	Sunni	Nilgol Village	VPC No 88	105' x 39' =4095 sft	East: Ramanna Bhandari (Khanavali) West: Dade Sab S/O Dawal Sab Attar North: Govt. Road South: Gangadhar S/O HegappaGwadi	3.04	KTW/REG/ 11/RCR/1 979 DTD: 01.12.198 9	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	As per RC: 51' x 33' = 1683 As per Enjoymen t: 105' x 39' = 4095 Excess= 2412 sft Khata Effected
18	Dargah Hazrat Raja Bagh Sawar, Gumgere Village	Sunni	Gumgere Village	SY No. 70/7	31' x 22' = 682 sft	East: Gowthana West: Gowthana North: Plot of Basavana Gowda South: Road Raichur to Hubli	0.50	KTW/REG/ 26/KPL/20 00-01 DTD: 10.09.200	Muslim Jamath	Muslim Jamath	Dargah	4,000/-	Custom	Deemed approved	Khata Effected
19	Muslim Shadi Mahal, Hulgera Village	Sunni	Hulgera Village	SstNo. 259, Sy. No. 1	60' x 30' = 1800 sft	East: Khabrastan West: Hanuman Nagar to Ilkal Road North:Road& open space South: Gram Panchayat Office	1.34	KBW/REG /55/KPL/2 001-02 DTD: 20.04.200 2	Muslim Jamath	Muslim Jamath	Shadi Mahal	10,000/-	Custom	Deemed approved	Khata Effected
20	Jamia Masjid (Sunni) Chalgiri Village	Sunni	Chalgiri Village	Plot No. 673	60' x 60' = 3600 sft	East: Govt Land West: Govt Land North: Land of G. V. Desai. South: Govt Land and House of Jorgal Saheb	2.67	KBW/REG /216/RCR/ 1998-99 DTD: 06.05.199	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	-
21	Masjid (Sunni), Hanchinal Village	Sunni	Hanchinal Village	VPC No. 104	16' x 25' = 400 sft	East: Road West: Road and NS North: SarkariChowdi South: Sarkari Place	0.30	KBW/REG /126/RCR/ 1996-97 DTD: 04.02.199	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	Khata Effected

22	Jamia Masjid (Sunni), Kandakoor Village	Sunni	Kandakoor Village	Plot No. 152	20' x 40' = 800 sft	East: Khabrastan West: Open space and road North: Khabrastan South: Open space and road	0.60	KBW/REG /11/RCR/1 998-99 DTD: 19.11.199	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	Khata Effected
23	ldgah (Sunni) Kalalbandi Village	Sunni	Kalalbandi Village	SY No. 23/1	02A-36G	East: Road West: Agricultural land of Chand Sab Buden Sab North: Madar Sab S/O Vali Sab Myageri, Khasim Sab S/O Dawal Sab, Myageri, Dawal Sab Master and Raja Sab Yalbunchi South: Khabrastan	4.14	KBW/REG /6/RCR/19 95-96 DTD: 25.04.199 6	Muslim Jamath	Muslim Jamath	ldgah	4,000/-	Custom	Deemed approved	-
24	Idgah and Khabrastan (Sunni), Muddenur Village	Sunni	Muddenur Village	SY No. 13/2	00A-09G	East: Land of Amare Gowda West: Land of Amare Gowda North: Land of Amare Gowda South: Muddenur to Tawaragera Road	0.32	KTW/REG/ 12/KPL/20 02-03 DTD: 09.10.200 2	Muslim Jamath	Muslim Jamath	Idgah&Kh abrastan	4,000/-	Custom	Deemed approved	Khata Effected for Khabrast an
25	Jamia Masjid (Sunni) Huliyapur Village	Sunni	Huliyapur Village	Plot No. 244 Sy No 94/3	60' x 40' = 2400 sft	East: Road West: Hosue of Doddappa's Plot North: Road South: Road	1.79	KTW/REG/ 8/KPL/199 9-00 DTD: 05.08.199	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	Khata Effecte d
26	Jamia Masjid and Muslim Khabrastan, Shadelgeri Village	Sunni	Shadelgeri Village	SY No. 2	01A-04G	East: Nala West: Land of Sri MallappaAari North: Land of Mallappa S/O Mahantappa Reddy South: Way or	1.79	KTW/REG/ 38/KPL/20 02-03 DTD: 20.03.200 2	Muslim Jamath	Muslim Jamath	Masjid &Khabras than	5,000/-	Custom & Usage	Deemed approved	

						Public Govt Road									
27	Masjid-E-Aqsa (Sunni), Lingasugar Road, Tavargera Village	Sunni	Tavargera Village	Property No. 197	100' x 70' = 7000 sft	East: Road West: Dargah Place North: Post Office South: Remaining land of Dargah KhwajaBande Nawaz (RA)	17.56	KBW/REG /03/KPL/2 011-12 DTD: 24.09.201 1	Muslim Jamath	Muslim Jamath	Masjid	5,000/-	Custom	Deemed approved	
28	Anjuman Islam (Shadi Mahal) Menedhal Village	Sunni	Menedhal Village	Panchayat Asti No. 58	100' x 50' = 5000 sft	East: Open Space of Hireshamappa West: Road North: Cultivation land of Hireshamappa South: Gowthana Land	3.71	KBW/REG /10/KPL/2 012-13 DTD: 25.05.201 3	Muslim Jamath	Muslim Jamath	Shadi Mahal	10,000/-	Custom	Deemed approved	-
29	Additional Property of Ashurkhana (Sunni) Nandapur Village	Sunni	Nandapur Village	Plot No. 159	31' x 22' = 682 sft	East: Govt Land West: Road, House of ShivasangayyaBe nnalli North: ShamannaGunna Ili House and Road South: Road and Shop of Basanna Gowda	0.50	KTW/REG/ 32/KPL/20 01-02	Muslim Jamath	Muslim Jamath	Ashurkha na	4,000/-	Custom	Deemed approved	Khata Effected

Number of Institutions: 29 Number of Properties: 35 Total Extent: 76794 Sq ft

11A-08 ¾ G

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH),

Under Secretary to Government, Revenue Department (SSLR)

PR-257

# **GOVERNMENT OF KARNATAKA**

No: RD 92 BHUDAA 2019

Karnataka Government Secretariat, Multi Stored Building, Bengaluru, dated 18.10.2019.

# **NOTIFICATION**

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey(waqfs), Belagavi District to the Board in letter **No: DWO/BGM/II SUR/ATN/2017-18/1275 Dated 12.01.2019.** It is verified and approved by the Administrator, Karnataka State Board of Auqaf on 02.02.2019. The Govt. of Karnataka is hereby notifying that the following immovable properties are Waqf properties.

Name of the District: BELAGAVI

Name of the Taluka: ATHANI

					Location	and details of	Waqf property			N 0			Gross	Administr ation by	XX C	
	Sl. No.	Name & address of the institution	Sunni/ Shia	City/ Town/ Village	Sy.No./ CTS No./ Khata No.	Extent	Boundaries	Value (Rs. in lakhs)	Year of creation of Waqf CR No. & date	Name & address of Wakif	Benefic -iaries, if any	Object of Waqf	Annual income (Rs/-) of Waqf	custom or settled by court or hereditary	Waqf scheme approved by Board	Remarks
Γ	1	2	3	4	5	6	7	8	9	10	11	12	13	1	2	3
	01	Azad Education Society Athani.	Sunni	Athani	Sy.No. 979/B	4A-00G	N- Sy No 979A part S- Sy No 979A part E- Sy No 979A part W- Sy No 979A part & Road	25.0	KTW/2/BGM/ 1979, dated 22-6-1979	Muslim Jamath	Musli m Jamath	Pious purpose	Nil	By Custom	Yes	Khatha effected